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what happens if tightness (a) is higher :
• Income ( fix, ki) is higher
• what happens to • µ, ?
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• Share of income + initial wealth spent on
services is lower (6*1)

•
Share of income + initial wealth saved /

stored as real wealth 1 's higher ( r - - )

•
Share of purchases devoted to consumption
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- Marginal propensity to spend is lower in

tighter economy → buying is more complicated,
visits are less likely to be successful ,

larger share of spending devoted to matching
- Marginal propensity to save is higher in
tighten economy
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71×1 ≈ share of spending devoted to matching

→
Share f ◦pending devoted to matching is higher in
a tighter economy .

→
Share of ◦pending devoted to consumption is
lower in a tighter economy


